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Fundamental of Programming
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int test(int); ?M\Q}fr‘ﬂj}‘f})“bj@j}'\‘

int i = 100;
voi d mai n() 110 .
{
int i; 85 <
i = 85;
test(i); %
10 .
int test(int p)
{
int i, j, k;
i =10;
i +=p;
printf(“%”, i);
return i;
}
int main() ?w\aﬂfr\ﬂﬁjuuﬁfjf.\‘
{
int i=0; 149 .4
for (; 1<10 ; i += 2)
{
it (i == 6) 0248 .o
conti nue;
printf("od ", i+1): 1359 ¢«
}
return O; 13579 .5
}



int main() S O s> 258 blslS blis sl p S1.F

{
int x=0; 12345 .l
for (x = 1; X <= 5 ; X++);
printf(“od”, x); 012345 .o
return O; 6
} (s
Error .»

void func(int a, int b){

a=a”" b; fel @Jfr\ﬁtywubjfjﬁo
b =a”Db;
a=a"b 2322 .l
}
it mai n(){ 2323 .
int a = 2; :
int b =3;
printf(“v%doe”, a, b): 2332 =
func(a, b);
printf(“%l%”, a, b); 2333 .
return O;
}
int main() ol 43S oS plio 4l g 5 .9
{ (7 & 8) Honesty is the best policy .
printf(“Honesty”); is the best policy .<
i f((~7 & 0x000f) == 8) ’
printf(“is the best policy\n"); Honesty .~
return O, ) .
} .J)\J.: Sl .
i nt i . . P . . .
;" mai n() fl 48 IS olis by s> Y
int k, num=30; .
k = (num>5 ? (num<= 10 ? 100 : 200) : 500;  200.-4
printf("%\n ", nunm;
return 0; 300 .«
}
500 .=
30 .
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int main(){
int x =1, a = 0;
for( a =0; a < 3; at+){ .l
switch(a){
default: printf(“%\n”, x++);
case l:case 2: case 3: printf(“%l\n”, x++);
}
}
return O;

}
int main(){
int x =1, a = 0;
for( a =0; a < 3; at+){ .
swi tch(a){ )
case l:case 2: case 3: printf(“%\n", x++);
default: printf(“%\n”, x++);

}
}
return O;
}
(\M.“ )
int main() ?w\@ﬁrlﬂjﬁbmuﬂ@j} q
{
int a=1, b = 2; ¥ .
if ((b==1) || (b=3) ][] ( b==4))
printf ("%l", b); Yoo
el se )
printf ("%", 1);
return O; Y d
} Yoo



int main() ?w\@fﬂ-ﬁfﬁjdm\i’xgﬁﬁﬁ-"

{
int i, k; 5-3..4!
i = (k = 2);
for(; ++k > 0; k-=i) 20 <
if(i %9k == 0) _
P 4-1 ¢
el se 31 s
++i ;
printf(“% %", i, k);
return O;
}

= P 29> 8 “I'Like C Programming!” der a5 0 L ) s aelbp gl 2L o))

int main() AEPW
{
int Xx; colg ol
for( x = -1; x <= 10; x++)
{ o
if(x < 5) '
conti nue; ‘A
el se ja
br eak;
printf(“l Like C Programing!”); Voo
}
return O;
}
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" Overlapping

% Inscribed

* Completely Separate
* Externally Tangent

* Internally Tangent

® Concentric
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int factor(int);

S b gl S Sl osly 25 RIL (b 2350 (s s JS e w6 S eslinal U (o
.Jd\:fdcjlg L Ol ol i 5 03 ,S ol b s

Int arithDrivative(int);



Glaal Yo ) S5 50alS 5 G Olgediils o guaies Jlgus . ¥ Il g

Ao el 5 dlgw 55 8 4

iy Sy o sSme 52850 ol 5l eslinal b s s sl ) eslind 5y oS oy g (51 40l (A1
& plBl 555 5038  dlys (93555 51 1y k) G Ll Lk L STe 2250 BBl Sl |
g5 55 ) g0 25U W G115 4 b e main sl OF Ol

21cba : 2y, 45 abcl12 L (§399 4 gad

:.A.ojs‘(\~~~~~j\;§¢)§j}¢j\}f)ﬁ@>hp>.i&k) Tk oose v S a6l (@
AL S s ool Sl oy 5 X e

1k=1/x+1ly
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1/12 = 1/13 + 1/156
1/12=1/14 + 1/84
1/12 = 1/15 + 1/60
1/12 = 1/16 + 1/48
1/12 =1/18 + 1/36
1/12 =1/20 + 1/30
1/12 = 1/21 + 1/28
1/12 =1/24 + 1/24
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